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Total cost, TC(Q):(1)

Total cost of producing Q units in the minimum cost way

Example:

𝑇𝐶(𝑄) = 2000 + 10 ∗ 𝑄ଶ 

Average cost, AC(Q):(2)

Average cost of producing Q units: 

AC(𝑄) =
𝑇𝐶(𝑄)

𝑄
⎯⎯⎯⎯⎯⎯

Example:

𝐴𝐶(𝑄) =
2000 + 10 ∗ 𝑄ଶ

𝑄
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

𝐴𝐶(𝑄) =
2000

𝑄
⎯⎯⎯⎯⎯+ 10𝑄

Also shows returns to scale:

Flat AC: Constant returns to scale
Rising AC: Diminishing returns to scale
Falling AC: Increasing returns to scale

Marginal cost, MC(Q):(3)

Cost Function Summary
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Incremental cost of producing one more unit: 

MC =
Δ𝑇𝐶(𝑄)

Δ𝑄
⎯⎯⎯⎯⎯⎯⎯

Example:

Q TC(Q) TC MC
0 2000 + 10 ∗ 0ଶ 2000 ---
1 2000 + 10 ∗ 1ଶ 2010 10
2 2000 + 10 ∗ 2ଶ 2040 30
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